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‘the continental approach’ (alinea 6)
In welke zin wordt voor het eerst duidelijk wat deze aanpak inhoudt?
Citeer de eerste twee woorden van deze zin.

Tekst 9 £36k therapy igloos...for young offenders
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How are therapy igloos described in paragraph 1?

A as a fitting solution to the problem of lack of safe spaces in prisons

B as comfortable places that are designed for undisturbed conversation
C as devices specially adapted to the needs of hardened criminals

D as superior alternatives for more customary rehabilitation treatments

Which of the following fits the gap in paragraph 2?
A are championed by prison staff

B get the thumbs up from politicians

C push the wrong buttons for inmates

D raise eyebrows among critics

In alinea 2 tot en met 4 komen de volgende (groepen van) personen
langs:

1 Tory MP Andrew Rosindell (alinea 2)

2 Some prison workers (alinea 3)

3 A Prison Service spokesman (alinea 4)

Geef van elke persoon/groep van personen aan welke uitspraak het best
bij hem of hen past.

Noteer de letter van de uitspraak achter het nummer op het antwoordblad.
Let op: er blijven twee uitspraken over.

a Available funds need to be directed elsewhere.

b Criminals are not entitled to such luxury.

c Offenders deserve the best possible care, no matter the costs.

d The prison could expect considerable financial cutbacks.

e The prison has sound reasons to continue its present policy.

Tekst 10 The timeless beauty in Shakespeare’s language
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What is the point made by Carol Morgan in this letter?

A It is necessary to modernise Shakespeare’s plays to make them
attractive to theatre goers.

B People these days find it difficult to enjoy Shakespeare’s plays
because they are too long.

C Shakespeare’s Romeo and Juliet is undoubtedly one of the best plays
ever written.

D The quality of the theatre experience is compromised if Shakespeare’s
plays are rephrased.



